Chapter 6, continued

SAT/ACT Chapter Test Cuiz 2

iD 2.A 3.C 4.E 5.A 68 7.D 8.C 1.4,-1) 2.(2,2) 3.2,4 4.(-1,2)
9.E 10.C 11.B 12.B 13.A 14.D 5. (1, -2) 6.(2,-3) 7.(1,4 83,1
15.$850 16.12 17.83 cm ' Quiz 3 '

Alternative Assessment ' RN

1. Complete answers should include: a
discussion of the equivalent compound inequality
ax + b>9 or ax + b < —9; a discussion of how
to solve each part of this compound inequality;

a rough sketch of a solution consisting of two .
rays having open circles that point in opposite no solution
directions. . ’ | infinitely many solutions

2.a. 125 + 8.5p <250 p < 1412
b.

fpret—to+—; 14 doOT prizes
2 6 4 810121416

0
c. $1256 d.1lx + 9y + 56 <1256
2.

~ Number of
chicken entrées

& 20 60 90120%

Mumber of
beef entrées .

f. Sample answer: 100 beef and 10 chicken;

50 beef and 70 chicken; 25 beef and 100 chicken
g. For sample answer in part (f): $10, $20, and
$25, respectively.

Chapter 7 _ ,
Ouiz 1 . Chapter Test A

1. (=2, —3) (2, - 1.(-2,3) 2.(1,-1)
T ¥ : : =228 and £ =w + 42
. - : i 4. — ‘

/
N

Length of
tennis court

Width of
tennis court

5. 78 feet by 36 feet 6. (2, —1) 7.(4 3)
8.(3,2) 8.(=7,-23) 10.(L, 1) 1t (6, 0)
12.x + y = 300, 0.04x + 0.07y = 15; 100 mL of
7% solution and 200 mL of 4% solution

13.(5, —1) 14.(2, ~7) 15.(3,~2)

{Iopvright@ by McDougai Litte!l, & division of Houghton Mitflin Company.

4.(1,4) 5.(2,6) 6.(3,8) 7.(1,~4
8.(5, -1 '
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Chapter 7, continued

16. (2, —1) 17.(1,1) 18.(5,—2) 1%.n0 26.x20;,y=20,x£65,y<35;
solution 20. one solution 21. infinitely many
solutions _ .
22.7 7] 23. | Iz 3
74.,,3 . 7 5
L1, g
- : 5
--Ii71. = 1 ' 0 10 20-30 40 50 6070_:'
/=3 I - Whitten examination
. NI o I
24.x20,y20, 10x + Sy 2150, x + y £ 25; Chapter Test C
e % _ 1. (—1, =3} : 2.0 Soiutioﬁ;
3 - __ 7 ;
B 20 L =
:%.' 15 14-1% - - - . ) X
& 5 7 ™~ : 3
00 5 1315202530«
Farm hours N T
¥ Il earn § veek —
25. Yes, you will earn $160 per week.
Y P 3.(4, <35 NP
Chapter Test B
1.yes 2.no 3. yes 4.x +y = 105, °
dx + 2y = 360 A .
5. "
180 - i y o
160 2 ‘ - '
g a2 -2) 5.2 1) 6.2,2) 7.(1,-3) .
. E b N . -8.no solution 9. (1, —4) 10. 225 liters
g 2 - _ . : L
£ S AN 11. (%, w%) 12. infinitely many solutions - - .
[] 20 . o
% T 13. (0, —2) 14.nosolution 18.(=3,5) ~ °
§ Gt ickers 16.(5,3) 17. 135 miles per hour; 15 miles per =
£ 6. 75 adult tickets and 30 student tickets hour 18. infinitely many solutions 19. onc_'
g 7.(~2,1) 8.(2, ;10) 9.(3, — 1) solution 20. no solution 21.y<5,y>x .
S 10.(=4,8)11.(5,2) 12.(1, 1) : 22.y<2,3x - y<3 , |
2 13.y=x + 30,26x + 15y = 3115; $65 for 23.x20,y20, L3x + 2y 15, 3x + 3y< 13
a single-occupancy room and $95 for ; D
#  double-occupancy room _ ' 9
. . o 7
T 14.(2,—3) 15.(2,0) 16.(3,1) 17.(—1,1) ga\\ .............
S 18.(8,6) 19.(—1,2) 20.no solution HG U
= . P ) . B
=  21.onesolution 22. infinitely many solutions & .
g - 23. There is no solution, so you cannot determine \\
2 the cost of'a bagel. 8 12 16720 *
=X ) Batches
) 24. R 25, F of cookies
24.(0,41},(10,0), (0,0), (3, 6)
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Chapter 7-7, continued

54. /

56. x> 21

[ 1 i
T T ]

{ i
1 i T
0 7 14 21 28 35 42

B8. —2<x<1
{
i R e e e
4 -3-2-1 0 1 2 3
59. x < —4.50rx>4 60. x> 10orx<—12
—45 05 _ 10
mn—— b O

-12-8-4 0 4 8 12

B -4-3-2-1 & 1
61.3, —7 62. no solution
83. p + g <500,

(5
=
=

=
=3

(pounds}
()

Weight of gear

-
50GF |
Weight of
passengers (pounds)

, Answers will vary.
64.(—3,-2) 65.(2,3) 86.(—1,8)
67. (4, 1) 68. nosolution 69. infinitely many
solutions
70.

Chapter 8
Quiz 1 :
1.8 2.(-3)% 3.6 4.(-2)'° 5, 16*.7*

86.4° 7.97 8.2 9.x'0 19, —x14 11,313
‘ 20 )

12. 72x% 13. x5 '14.%

4.9 5.930,000

6. 70,400 7.0.00562 8. 0.000004209
"9.93 x 107

Quiz 3.
1.

— e Y| —
¥

7.y = 80,000(1.05)"; $107,208
Chapter Test A

36
8o
i

7.x% 8.y o.w® 10. $100,000 1.5

1.5° 2.6* 3.3° 4.7 5.(-2) &

1 13.5 14i15£ 16. 1
3 . " -5 .

17. 10,000 meters 18. 5.6 X 10*
19.3.51 X 107 20.9 X 107 21.3200
22.0.0571 23. 9,300,000,000 24. 500 sec

12.

-1 ! x'

~ 27. The domain is-all real numbers and the range

is all positive real numbers.
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Chapter 8, continued

9.E 10.A 11.C 12.C 13.D 14.32
15; $249 16.% _ )

Alternative Assessment

1. Complete answers should include: an
explanation that numbers larger than 10 will have
positive exponents when written in scientific
notation; an explanation that numbers between
0 and 1 will have negative exponents when written
in scientific notation; an example of each case in
both scientific notation and standard form.

2. a. L = 1; A paper folded 0 times will have
1 layer. :

¢. Each additional fold results in twice as many
layers. d. 7 folds
e.

T=(.1)25" 4= (0.1)%’} = (%41)2 = (0.00625)2"

. ¥ Pl
et | 4 - - f’ _
/
/

T

!

T |
RN

/
L ‘
Clizlgimi sy

'9. expoﬁential growth h. 6.4 cm

2 ———

Chapter 9

Cuiz 1

1. -2 — 14x +7 2. —17¢% ~ 3¢ + 4
3. —5k0 + 15k° ._4.y3+3y2+y~2~
54.2 +z— 18 6p2—6p;7

7. 64m? + 48m + 9 8.25)7 460y+36
9. w? + 4w

Ouiz 2
1. 3x(dx +y) 2. Tab(3b + 5} 3. 92%(1 — 22)
4. 4p(1 — 2p) 5. (w+ Dw + 14)
6. (m — 10)(m — 2) 7.(2k — D)(k + 3)
8.(3b + 1)(b— T 9.Qpy+ 5)dy +3)

10.—Qd + S+ 1) 1M.-6,4 12.0,%
13.3.4 14.-2,0 15.2,5. 16. -3, -2

14, 40 in.?

"2

Quiz 3
.G+ 9 —9) 2.(3z+ 113z~ 1)
3. (10m + Tn)(10m — Tn) 4. (A + 7y
5. (8¢ — 17 6.4(a® + ) 7.6(x +y)x )
8. 5(m + 2n)(m — 2n) 9. x(x — S)x + 2)
10.3(z + 57 11 2k(k — 9) '
12, (x + ) +2) 13. -5 14.-2,2

45, —7,0,7 18.0,1,5 17.61n longby 2in.

wide by 8 in. high

ChapterTest A
1106 + o 2.3y* — 4y — 2
3. -2+ Tx—8 438 —3h+17
5. T= —17.63£2 + 3147.34¢ + 29,544

| 6.$47,254.40 7.2n* — 3n% + 2n
- 8.8w? — 26w+ 21 9.d°+Ad> +5d +2

10.p% ~ 9 1.2 — 81+ 16 12.45" = 25
13. 25% 14, 0.258% + 0.5Bb + 0.255

5. -7,4 16. —5,% 17. 4c%(c® — 2)
18. 6f2¢%(g + 2) 19. 2k(k* + 6k — 7) 20.0,3
21.0,3 22.h=—16% + 20/ 23.125 seconds

28.(x + Hx +2) 26.(y — 4y +3)

26. (3m + 2)(m + 6) 27 3cmby20cem
28.3x(x + 2)(x + 3) 29.2(s + 3)}s — 3)
30. (r + 7)(r +3) 31.0,-2,5 32.-7,4
33.8ftby 10 ft ‘ '

ChapterTest B

5303 —2 2.3 — dx? + dx + 35
133424 - 3d+ 1
AnS = 2nt +4An+ 12
.D = —18.53¢% — 895¢ + 40,091
. 14,779,000 students 7. 36¢ — 20¢* — 32¢
5%+ 1Ty — 12 9,557 + 3267 - 135 — 10
10. 1692 — 1 11 w? — 10w + 25
12. 402 + 12h+ 9 -
13,V = 20x — H)x + 4) = 22 — 32

o o ¢ b W

15. A%, 7 16.0,8 17.—2.0

18. 30w — 2) = wiw + 1) 19.5

(= 18)(n+4) 2% —(x — 9x 5)

o
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